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ROEHE, IOV THE X,

ERE, FE, B, EERIE, mFoR (Mg , WA, WAOTE, ERHE,
FA7—DRK, FETZ7NVDORNA, NEMW, FHE* arg & Arg,

F7, ROFEMIZOWTHHE X,
(1) 2 D DEESL o, B DEIEEE L 7 of B X O a8 OHIERD B,
(2) BB o DRGFERE & N 2T 0" OWHEEED B,
(3) BEB o DWIEIEERER Ya (DFD 2" = a Ofif) DIRFEEEDBILR.
(4) BHFEH o & 2 ORI a OMPEEED IR,

ROfti% (a) WHOFE & (b) MEEZ D2 o 7% fl2E 1 22 kTR X,

1471

(a) (1+ V3i)? ) 17— (¢) (1+14)°
(3] %xofi (BFEK) ZkoT, HEVFH EICRRE X,
.\ 2
(a) <if§z> (0) V=1 (ZhUd 24 = 4 D 4> DMEHET.)

RDOTTHAXDOMRZ RO T, M LICPIRE X,

(1) 23 =1+1,

(2) 22+ (T+i)z4+24+7i=0. (B> b FH5ERK)
ROFEREAFERE R,

|2+ w? + |z = wl* = 2|z* + 2w, |z +w| < |z| + [w]

* HFEEORIE1.1, 1.2 =W
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(1] K%z O THIIE X,

(1) EREBOIRBIE * & =A% (sinz, cos 2, tanz) DIEFE,
(2) RSB In(2) & RHERBISL O 0l Ln(2).

(3) —MERF 2 DEFE E Z DLk,

2] KOLEREMD»D X,

RDOFENZ MDD X,
cosh(z + w) = cosh(z) cosh(w) + sinh(z) sinh(w).

F 2[Rk % sin(z + w) 122 W TOEAZET,

(4] Roftizkod k.
(1) cos(1 + 1)

(2) sinmi

(3) Ini

(4) @

RDOTTEADIEZ 2 TRD X,
(1) cosz=3i

(2) coshz =0

* HEREED 1. 6HiOFKME 115, 1. 7HOHKRNE) 36, 911, 1. S8HIDHIKME (p46)

518 H &M,



